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Choose the right word(s) from the alternatives given: 

1. Milton and Monoj are my friends; the _________ is from Meghalaya 
  (1) former (2) farmer (3) firmer    (4) later 
2. This dress is mine and that one is _____________. 
  (1) her   (2) hers (3) her's   (4) your's 
3.   One who guides is a  ___________ .  
  (1) guider     (2) guideman (3) guidance   (4) guide  
4.   An example of a sentence in simple past tense is: 
  (1) He has had a car.  (2) He had had a car   
  (3) He had a car.  (4) He would have a car. 
5.   She will help you if you _____________ her advice 
  (1) will follow    (2) are following    (3) follow    (4) will be following 
6. I had my breakfast after he ______________. 
  (1) had left (2) has left (3) left    (4) none of these 
7. He said that he ______________ me later 
  (1) will meet    (2) has met (3) would meet (4) would met 
8. An example of abstract noun is 
  (1) water   (2) boy (3) love   (4) book 
9. The sentence – He will return in no time -- means 
  (1) He will return soon (2) He will return late (3) He will never return (4) He may not return 
10. Cut your coat according to your _____________. 
  (1) choice (2) mood (3) tailor   (4) cloth 
11. An Alma Mater is an 
  (1) industrial area (2) educational institute (3) Arab land (4) aircraft 
12. An antonym of ‘reluctant’ is 
  (1) unwilling    (2) willing (3) happy   (4) sad 
13.  ‘Just’ is to ‘justice’ as ‘true’ is to: 
  (1) truth    (2) truthful   (3) trust     (4) trustworthy  
14. The earlier you reach, the ______________ it will be 
  (1) good (2) better    (3) best     (4) comfortable 
15. Of the following, the sentence with a mistake is 
  (1) As soon as he saw me, he began to quarrel 
  (2) No sooner did he see me then he began to quarrel 
  (3) No sooner did he see me than he began to quarrel. 
  (4) No sooner had he seen me than he began to quarrel 
16. Of the following, the correct sentence is 
  (1) One of these books belongs to me (2) One of these books belong to me 
  (3) One of those books belong to me (4) One of these books belonging to me 
17. 'Arrival' is to 'departure' as 'dusk' is to: 
  (1) musk   (2) dark    (3) dawn (4) down 
18. An example of a sentence in SVOO (subject + verb + object + object) is: 
  (1) He knows me well  (2) They have purchased a new car 
  (3) He gave me a book  (4) He told a beautiful story 
19. As you ____________, so you reap. 
  (1) so      (2) saw (3) sow (4) show 
20.  An example of a sentence in passive voice is: 
  (1) Let him go now. (2) Have you done this? (3) I have done this. (4) I was not invited 
 
 
 
 
21. A convex lens is made up of three different materials as shown in the figure. For a point object placed on its axis, 
 the number of images formed are 
 

ENGLISH

GENERAL SCIENCE / / 
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  (1) 1 (2) 3
22. A person cannot see objects distinctly at a distance

order to read a paper at a distance of
 1 

1 

  (1) +4D (2)
23. Presbyopia is a defect related to 
 ________

  (1) age /   
  (3) occupation / /   
24. Three identical bulbs P, Q and R are connected to a battery as shown in given fig. When the circuit is closed by
 means of the switch S, it is found that
 P, Q R বা�

বা� P, Q R

  (1) R glows brightly, but Q and P glow dim
        R Q
  (2) P, Q and R all glow equally brightly
  (3) Q and R immediately burn out
  (4) P glows brightly, but Q and R glow dim
        P Q
25. A 24 V potential difference is applied across a
 resistor is 
 24 V 

6 Ω

  (1) 1 A (2) 4 A
26.  In the following figure, the reading of the ammeter
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(2) 3 (3) 4 

A person cannot see objects distinctly at a distance less than 1 m. The power of the spectacles that he
order to read a paper at a distance of 0.25 m is 

0.25 

0.25 

(2) +3D (3) +0.5D 

 (2) gender / / 
 (4) place / 

are connected to a battery as shown in given fig. When the circuit is closed by
means of the switch S, it is found that 

S
R S

 
and P glow dim /  

 P / R Q P
and R all glow equally brightly / P, Q R / P, Q 

and R immediately burn out / Q R  / Q R 
and R glow dim  

 R / P Q  R
A 24 V potential difference is applied across a parallel combination of four 6 Ω resistors. The

6 Ω

24 V

(2) 4 A (3) 16 A 
In the following figure, the reading of the ammeter will be (the value of each resistor is 

2200Ω
2200Ω
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 (4) 5 
of the spectacles that he should use in 

 

 (4) –3D 

  

are connected to a battery as shown in given fig. When the circuit is closed by 

S

  
Q R  

 

 
resistors. The current in each 

 (4) 36 A 
will be (the value of each resistor is 2200Ω ) 

Ω
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  (1) 0.7A (2) 0.6A (3) 0.4 A (4) 0.2 A 
27. There are 8 equal resistances R. Two are connected in parallel, such four groups are connected in series. The total 
 resistance is 
 8 R

8 R

  (1) R/2 (2) 2R (3) 4R (4) 8R 
28.  Resistance of a metallic conductor 
 / 
  (1) Increases with increase in temperature / /   
  (2) Increases with decrease in temperature / /  
  (3) Decreases with increase in temperature / /   
  (4) Remains constant / /  
29. The slope of current (I) versus voltage (V) is called 
 (I) (V) 

(I) (V) 

 
  (1) resistance / /   (2) conductance / /   
  (3) Electric power /  (4) resistivity / /  
30.  Light of velocity 83 10× m/s, falls on a glass prism. The frequency of light is 32 10× Hz. What will be the 
 frequency after passing through glass prism – 
 83 10×  / 32 10× Hz

83 10×  / 32 10× Hz

  (1) 52 10 Hz
3

−×   (2) 53 10 Hz
2

−×   

  (3) 32 10 Hz×   (4) None of these / /  
31. Assertion (A): AC load line is used for long distance transmission. 
 (A): 

(A):  
 Reason (R): It has very less loss of energy in long distance transmission 
 (R): 

(R): 
  (1) Both A and R are true and R is the correct explanation of A. 
   A R R A  
   A R R A 
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  (2) Both A and R are true but R is not the correct explanation of A. 
   A R  A R  
   A R R, A  
  (3) A is true but R is false. 
   A R  
   A R  
  (4) Both A and R are false. 
   A R  
   A R
32. A wire has a resistance of 16 Ω. It is melted and drawn into a wire of half of its original length. What is the  
 percentage change in its resistance? 
 16 Ω  
 16 Ω

 
  (1) 25 % (2) 50 % (3) 75 % (4) 100 % 
33. If the length of a conductor having resistivity 1.5 × 10-8 Ω-m is doubled, its new resistivity will be  
 1.5 × 10-8 Ω-m 

1.5 × 10-8 Ω-m 
  (1) 2 × 10-8 Ω-m (2) 1.5 × 10-8 Ω-m (3) 6.6 × 10-8 Ω-m (4) 1 × 10-8 Ω-m 
34. Identify the wrong description of the figures given below: 
 

   
 
  (a)  (b)  
 
 
 
  (c)  (d)  
 
    
  (1) a represents far-sightedness / a / a   
  (2) b represents correction for short-sightedness /  
        b / b  
  (3) c represents far-sightedness / c / c   
  (4) d represents correction for far-sightedness 
       d / d  
35. A convex lens produces an inverted image magnified three times of an object placed at a distance of 15 cm from it.  
 Calculate focal length of the lens.  
 15 cm 
 15 cm  
  (1) 11.3 cm (2) 11.4 cm (3) 11.25 cm (4) 12 cm    
36. Energy released in the fission of one nucleus of U-235 is about 
 U-235 

U-235 
  (1) 200 MeV (2) 2000 MeV (3) 1 MeV (4) 20 MeV   
37. For a 1 MW wind energy generator, the minimum land area required for establishment of wind energy  
 farm is about -  
  1 MW 

1 MW  
  (1) 100 hectares / 100 / 100  (2) 50 hectares / 50 / 50   
  (3) 20 hectares / 20 / 20  (4) 2 hectares / 2  / 2  
38. Refractive indices of water and glass are 7/3 and 5/2 respectively. Find the Refractive index of the glass with  
 respect to water. 
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 7/3 5/2 
 7/3 5/2  
  (1) 1.07  (2) 1  
  (3) 2  (4) None of these / /  
Direction (Q No. 39 and 40): Refer to the given passage and answer the following questions: 

39 40  
39 40  

 A letter A consists of a uniform wire of resistance 1Ω per cm. The sides of the letter are each 20 cm  
 long and the cross-piece in the middle is 10 cm long while the apex angle is 60°. The arrangement is as  
 shown in the figure. 
 A 1Ω A 20 

10 60°
 A 1Ω 20   
 10 60° 

 

39. The effective resistance between B and D is 
 B D / B D
  (1) 20/3 Ω (2) 3/20 Ω (3) 20 Ω (4) 3 Ω 
40. The effective resistance between the ends A and E is 
 A E / A E    
  (1) 3/80 Ω (2) 3 Ω (3) 80/3 Ω (4) 80 Ω 
41. Which of the following is (are) an endothermic process(es)? 
 

 
 (i) Dilution of sulphuric acid / /    
 (ii) Sublimation of dry ice / /   
 (iii) Condensation of water vapours / /   
 (iv) Evaporation of water / /  
  (1) (i) and (iii) / (i)  (iii) / (i)  (iii) (2) (ii) only /  (ii)  
  (3) (iii) only /  (iii)  (4) (ii) and (iv) / (ii)  (iv) / (ii)  (iv) 
42. Which of the following salt has no water of crystallisation? 
 

 
  (1) Blue vitriol / /    
  (2) Washing soda / /  
  (3) Baking soda / /    
  (4) Gypsum / /  
43 A few drops of liquid X were added to distilled water. It was observed that pH of the water is increased. The liquid 

‘X’ could be: 
 X pH X

X pH X
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  (1) Lemon juice / /  (2) NaCl solution / NaCl / NaCl  
  (3) 2 3Na CO  solution / 2 3Na CO  / 2 3Na CO   (4) dilute HCl / HCl / HCl 
44. Which of the following statement is true about an oxidation reaction? 
 

  (1) Increase in positive valency of a substance /  
/ 

  (2) Loss of electron from a substance  
   / 
  (3) Removal of oxygen from a substance  
   / 
  (4) Both 1 & 2 / 1 2 / 1 2  
45. An element A is soft and can be cut with a knife. This is very reactive to air and cannot be kept open in air. It reacts 

vigorously with water. Identify the element from the following 
 A

A
 

  (1) Mg (2) Na (3) P (4) Ca 
46. Pentane has the molecular formula 5 12C H . It has 

 5 12C H __________

 5 12C H _________  
  (1) 5 covalent bonds / 5 / 5   
  (2) 12 covalent bonds / 12 / 12    
  (3) 16 covalent bonds / 16 / 16     
  (4) 17 covalent bonds / 17 / 17    
47. Which of the following would weigh the highest? 
 

  
  (1) 0.2 mole sucrose (C12H22O11) / 0.2 (C12H22O11)  / 0.2 (C12H22O11)   
  (2) 2 moles of CO2 / 2 CO2 / 2 CO2  
  (3) 2 moles of CaCO3 / 2 CaCO3 / 2 CaCO3   
  (4) 10 moles of H2O / 10 H2O / 10 H2O 
48. Rutherford’s α-particle scattering experiment showed that: 
 α- __________

α-    
  (1) electrons have negative charge. / � / �   
  (2) the mass and positive charge of the atom is concentrated in the nucleus.  
          
         
  (3) neutron exists in the nucleus. / /   
  (4) All of the above /  /   
49. The ion of an element has 3 positive charges, mass number of atom is 27 and the number of neutrons is 14. What is  
 the number of electrons in the ion? 
 3 27 14 �
 3, 27 14 �  
  (1) 13 (2) 10 (3) 14 (4) 16 
50.  The formula of Ammonium Sulphate is__________ 
 __________ 
  
  (1) NH4SO4 (2) NH4SO2 (3) (NH4)2SO4 (4) NH2SO4  
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51. 2 3 2 32 2Fe O Al Al O Fe+ → +  
 The above reaction is an example of a -  
 __________ 

__________  
  (1) Combination reaction /    
  (2) Double displacement reaction / /  
  (3) Decomposition reaction /   
  (4) Displacement reaction / /  
52. What happen when dilute hydrochloric acid is added to iron fillings? Tick the correct answer- 
 

  (1) Hydrogen gas and iron chloride are produced  
/ 

  (2) Chlorine gas and iron hydroxide are produced   
        /    
  (3) No reaction take place / /     
  (4) Iron salt and water are produced / /  
53. Redox reaction is that reaction in which - 
 

 
  (1) only oxidation takes place / /    
  (2) only reduction takes place / /  
  (3) Both oxidation and reduction takes place / /   
  (4) Neither oxidation nor reduction reaction takes place  
        /  
54. Which one of the following type of medicines is used for treating indigestion? 
 

 
  (1) Antibiotic / /  (2) Analgesic /   
  (3) Antacid /   (4) Antiseptic / /  
55. Rain water is called acid rain when its pH is - 
 pH

pH  
  (1) greater than 7 (pH > 7) / 7 (pH > 7) / 7 (pH > 7)   
  (2) greater than 10 (pH > 10) / 10 ( pH > 10) / 10 (pH > 10)  
  (3) less than 5.6 (pH < 5.6) / 5.6 (pH < 5.6) / 5.6 (pH > 5.6)    
  (4) less than 8 and greater than 7 (7 < pH < 8)  
       8 7  (7 < pH < 8) / 8 7 (7 < pH < 8) 
56. When active metal react with dilute 2 4H SO then it form_______. 

 2 4H SO  _________

2 4H SO ________  

  (1) Metal sulphate + nitrogen gas ( )2N gas  
+ 2N / + 2N    

  (2) Metal sulphate + ( )2H gas  / + 2H / + 2H   

  (3) Metal sulphate + ( )2Cl gas  / + 2Cl / + 2Cl   

  (4) Metal sulphate + ( )2CO gas  / + 2CO / + 2CO  
57. When metal oxide reacts with acid to give salt and water then metallic oxide are said to be- 
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  (1) Basic oxides / /   
  (2) Acidic oxides /   
  (3) Neutral oxides /   
  (4) None of these / /  
58. Which of the following is correct reactivity order? 
 

  (1) Mg Al Zn Fe> > >   (2) Fe Zn Al Mg> > >   
  (3) Al Mg Zn Fe> > >   (4) Al Mg Fe Zn> > >  
59. Carbon in all its allotropic forms, burns in oxygen to give 
 _________

_________  
  (1) 2 2CO H O+ +Heat and light / 2 2CO H O+ + / 2 2CO H O+ +  

  (2) 2 2CO H+ +Heat and light / 2 2CO H+ +  / 2 2CO H+ +   

  (3) 2CO +Heat and light / 2CO +  / 2CO +    

  (4) 2 2SO CO+ +Heat and light / 2 2SO CO+ +  / 2 2SO CO+ +  
60. Adjacent members of homologous series is differ by 
 ________

________  
  (1) 3CH unit− −  / 3CH− −  (2) CH unit− −  / CH− −   

  (3) 2CH unit− −  / 2CH− −  (4) 4CH unit− −  / 4CH− −  
61 Which of the following is totally impossible outcome of Mendel’s Experiment? 
 
  
  (1) 3 tall 1 short plant / 3 1 / 3 1   
  (2) 24 tall and 8 short plants / 24 8 / 24 8  
  (3) 9 tall and 3 short plants / 9 3 / 9 3    
  (4) 4 tall plants and 1 medium height plant. / 4 1 / 4 1  
62.    Which section of DNA provides information for one protein 
 DNA
 DNA  
  (1) Nucleus /   (2) Chromosomes / /   
  (3) Trait /   (4) Gene /  
63.    What is the probability that the next progeny will be a boy? 
 
  
  (1) 50%  (2) 56%  
  (3) 47.43%  (4) It varies / /  
64.    The two oviducts in a human female unite into an elastic bag like structure known as - 
 
  
  (1) Vagina /   (2) Uterus / /   
  (3) Fallopian tube /  (4) Cervix / /  
65.    Which of the following disease is transmitted sexually? 
 
  
  (1) Kala azar / /   
  (2) Jaundice / /   
  (3) Cholera / /    
  (4) Syphilis / /  
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66.    Which of the following is a contraceptive?
 
  
  (1) Copper T / /  
  (3) Diaphragm / / 
67.    Fruits are formed from 
 ______
 ______  
  (1) Stamen / /   
  (3) Ovary /   
68.    Synthetic material/ chemical which depleted
 
 /
  (1) CFCs  
  (3) CO2  
69.   Which of the following is a biodegradable
 

 
  (1) Glass /   
  (3) Plastics / /   
70. Which of the following is terrestrial 
 
  
  (1) A natural forest / 
  (3) A pond / /    
71. Carbohydrates in the plants are stored in the
 

______
  (1) Glycogen / / 
  (3) Glucose / /   
72.   Temporary finger like extensions on amoeba
 

  (1) Cell membrane / / 
  (2) Cell wall / / 
  (3) Pseudopodia /   
  (4) Cilia / /  
73.  In the below figure, parts A, B and C
 A, B C

A, B C

   
  (1) Cotyledon, plumule and radicle 
  (2) Plumule, radicle and cotyledon
  (3) Plumule, cotyledon and radicle
  (4)  Radicle, cotyledon and plumule
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Which of the following is a contraceptive? 

 (2) Condom / / 
 (4) All of these / 

 (2) Stigma /  
 (4) Ovule / 

Synthetic material/ chemical which depleted Ozone layer is 

 
 (2) CFLs 
 (4) None of these / 

Which of the following is a biodegradable substance? 

 (2) Plants /  
 (4) Polythene / 
 ecosystem? 

/  (2) A lake /  
 (4) An aquarium / 

Carbohydrates in the plants are stored in the form of 

 
  (2) Starch / 

 (4) Maltos / / 
Temporary finger like extensions on amoeba are called 

 
  

  
  

and C are, sequentially, 

 

radicle / / 
Plumule, radicle and cotyledon / / 
Plumule, cotyledon and radicle / / 

cotyledon and plumule / / 
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74. The correct sequence of organs in the male reproductive system for the transport of sperm is  
   
  
  (1) Testis → vas deferens → urethra / →  → / → →  
  (2) Testis → ureter → urethra / → → / → →   
  (3) Testis → urethra → ureter / → → / → →   
  (4) Testis → urethra → vas deferens / → → / → →      
75.  Roots of plants are - 
 

 
  (1) positively geotropic / /   
  (2) negatively geotropic / /    
  (3) positively phototropic / /      
  (4) None of these / /  
76.  Which of the following acts as both endocrine and exocrine gland? 
 

 
  (1) Pancreas / /   (2) Thyroid / /   
  (3) Adrenal /   (4) Liver /  
77.  In which mode of nutrition an organism derives its food from the body of another living organism without killing 
 it? 
 

 
  (1) Saprotrophic nutrition / /    
  (2) Parasitic nutrition / /   
  (3) Holozoic nutrition /   
  (4) Autotrophic nutrition / /  
78.  Choose the correct path of urine in our body. 
 /  
  (1) Kidney→ ureter→ urethra→ urinary bladder  
   → → → / → → →  
  (2) Kidney→  urinary bladder →  urethra→  ureter 
   → → → / → → →  
  (3) Kidney→  ureter→  urinary bladder →  urethra 
   → → → / → → →  
  (4) Urinary bladder →  kidney→  ureter→  urethra 
   → → → / → → →
79. The primary consumers are - 
 

 
  (1) Carnivores / /  (2) Herbivores /   
  (3) Omnivores / /  (4) Producers /  
80.  When a few drops of iodine solution are added to rice water, the solution turns blue- black in colour. 
 This indicates that rice water contains: 
 

______

______
  (1) fats /   (2) complex proteins / /  
  (3) starch / /   (4) simple proteins / /  
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81. In the given figure if ∠BEC = 130° then find ∠BDC. 
 ∠BEC = 130° ∠BDC

∠BEC = 130° ∠BDC

 
  (1) 30° (2) 60° (3) 50° (4) 70° 
82. In the diagram if △ABC and △PQR are equilateral. Then ∠CXY equals - 
 △ABC △PQR ∠CXY 

△ABC △PQR ∠CXY

 
  (1) 35° (2) 40° (3) 45° (4) 50° 
83. In a rectangle ABCD, as shown in figure, a point P is taken on the side CD such that PC = 9,  BP = 15 and AB = 14  
 then the correct relation between angles of △APB is : 
 ABCD CD P PC = 9, BP = 15 AB = 14 △APB 

_______ 
 ABCD CD PC = 9, BP = 15 AB = 14 △APB 

 

 
  (1) A > B > P (2) A > P > B (3) B > P > A (4) P > A > B   
84. Find the area of the quadrilateral ABCD in which AB = 17 cm, AD = 9 cm, CD = 12 cm, ∠ACB = 90º and  
 AC = 15 cm. 
 ABCD AB = 17 AD = 9 CD = 12 ∠ACB = 90º AC = 15 

ABCD AB = 17 AD = 9 CD = 12 ∠ACB = 90º AC = 15 
ABCD

  (1) 134 cm2 (2) 114 cm2 (3) 154 cm2 (4) 104 cm2   
85. One fifth of one forth of one third of a number is 15, then the number is: 
 15 

15 
  (1) 1800 (2) 450 (3) 900 (4) 300   

GENERAL MATHEMATICS  / /  
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86. In an Isosceles trapezium ABCD if ∠A = 45º then ∠C will be :  
 ABCD ∠A = 45º ∠C

 ABCD ∠A = 45º ∠C
  (1) 90º  (2) 120º  
  (3) 135º  (4) None of these / /  
87. In parallelogram ABCD, AB = 15 cm. The altitudes corresponding to the sides AB and AD are respectively 12 cm  
 and 18 cm. Find AD. 
 ABCD AB = 15 AB AD 12 18 AD

ABCD AB = 15 AB AD 12 18 
AD  

  (1) 20 cm (2) 10 cm (3) 15 cm (4) 10.5 cm 
88. A regular pentagon is inscribed in a circle with centre O. Each side subtend angle at the centre is : 
 O

O
  (1) 120º (2) 100º (3) 72º (4) 90º 

89. Simplify / / : 3 3 2 3 7 48 ?+ + + + + =    

  (1) 27 3 9
3
+  (2) 3 1−  (3) 4 (4) 3 1+   

90. A cylinder of radius 3 and height 10 is melt and a cone is formed, radius of cone is equal to radius of cylinder then  
 find height of cone. 
 3 10 

 3 10 

  (1) 30 (2) 28 (3) 15 (4) 40 
91. The average mark scored by girls is 58 and that of the boys is 52. The average marks of the whole class is 54. The  
 ratio of the girls and boys in the class is : 
 58 52 54 

58 52 54 

  (1) 1 : 1 (2) 1 : 2 (3) 2 : 3 (4) 3 : 5 

92. If 2 3x = + and xy = 1 then 
2 2

x y
x y
+ =

+ −
_______  

 2 3x = +  xy = 1 
2 2

x y
x y
+ =

+ −
_______ 

2 3x = +  xy = 1 
2 2

x y
x y
+ =

+ −
_______ 

  (1) 2   (2) 3   
  (3) 1  (4) None of these / /  
93. The degree of the algebraic expression 14y5 – 3y2 + 15x2y4 is :  
 14y5 – 3y2 + 15x2y4  

14y5 – 3y2 + 15x2y4  
  (1) 3 (2) 8 (3) 5 (4) 6 
94. The point (4, –6) belongs to -  
 (4, –6)  

(4, –6)  
  (1) first quadrant /   (2) second quadrant /   
  (3) third quadrant /   (4) fourth quadrant  /  
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95. If 2 3x = + then 2
2

1x
x

+ =
 

 
2 3x = +  

2
2

1x
x

+ =

 2 3x = +  
2

2

1x
x

+ = _______

  (1) 14 2  (2)
96. In an isosceles triangle the equal sides are
 with the greatest perimeter is selected. Its perimeter is  
 

 
 
  (1) 23 (2
97. Two parallel sides of a trapezium are 60 cm and 77 cm and other sides are 25 cm and 26 cm. Find the area of the 
 trapezium. 
 

  (1) 1644 cm2 (2)
98. If the point (–1, –5) lies on the graphs of 3
 (–1, –5) 3x = ay + 7 y
 (–1, –5) 3x = ay + 7 y = bx
  (1) 10 (2)
99. ABCD is a parallelogram and AP and CQ are the perpendiculars from A and C on its diagonal BD, respectively. 
 Then AP is equal to : 
 ABCD BD A

ABCD BD A
  (1) DP (2) CQ
100. In quadrilateral ABCD, diagonals AC and BD intersect at point E. Then
 ABCD  AC  BD

ABCD AC BD
  (1) ar (AED) + ar (BCE) = ar (ABE) + ar (CDE)
  (2) ar (AED) – ar (BCE) = ar (ABE) 
  (3) ar (AED) ÷ ar (BCE) = ar (ABE) ÷ ar (CDE)
  (4)  ar (AED) × ar (BCE) = ar (ABE) × ar (CDE)
101. If the curved surface area of a cylinder
 4224

  (1) 32 cm (2)
102. In the given figure, the value of x is 
 x  
 x  

  (1) 108º (2)
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2

1
x

+ = _______   

+ = _______ 

(2) 12 2  (3) 12 
In an isosceles triangle the equal sides are 7 units each and the length of the base is an integer. From these a triangle 
with the greatest perimeter is selected. Its perimeter is   

7 

7 
(2) 25 (3) 27 

Two parallel sides of a trapezium are 60 cm and 77 cm and other sides are 25 cm and 26 cm. Find the area of the 

60 77 25

60 77 25

(2) 1624 cm2 (3) 1636 cm2 
5) lies on the graphs of 3x = ay + 7 and y = bx + 7, then the value of a

y = bx + 7 a + b 
x + 7 a + b  

(2) 11 (3) 12 
ABCD is a parallelogram and AP and CQ are the perpendiculars from A and C on its diagonal BD, respectively. 

C AP CQ AP
C AP CQ

(2) CQ (3) PQ 
In quadrilateral ABCD, diagonals AC and BD intersect at point E. Then - 

E
E

ar (AED) + ar (BCE) = ar (ABE) + ar (CDE)  
ar (BCE) = ar (ABE) – ar (CDE) 

ar (AED) ÷ ar (BCE) = ar (ABE) ÷ ar (CDE)  
(4)  ar (AED) × ar (BCE) = ar (ABE) × ar (CDE) 

If the curved surface area of a cylinder is 4224 cm2 and its height is 21 cm, then its diameter is____
21

4224 21
(2) 36 cm (3) 64 cm 
 

 
(2) 72º (3) 60º 

AS40  / Date – 29-12-2024   /  Set – A /  XI 

 (4) 14 
7 units each and the length of the base is an integer. From these a triangle  

 (4) 29 
Two parallel sides of a trapezium are 60 cm and 77 cm and other sides are 25 cm and 26 cm. Find the area of the  

25 26 

25 26 

 (4) 1625 cm2 

7, then the value of a + b is  

 (4) 14 
ABCD is a parallelogram and AP and CQ are the perpendiculars from A and C on its diagonal BD, respectively.  

AP
AP

 (4) AB  

and its height is 21 cm, then its diameter is________.   
________

________
 (4) 72 cm 

 (4) 36º   
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103. If 3 3x = + , then what is the value is of 2
2

9 ?x
x

+
 

 
3 3x = + 2

2

9x
x

+
 

_______    

 3 3x = + 2
2

9x
x

+
 

_______ 

  (1) ( )15 3 3+   (2) ( )18 3 3+   

  (3) ( )27 3+   (4) None of these / /  

104. In the given figure, if C is the centre of the circle and ∠PQC = 25° and ∠PRC = 15°, then ∠QCR is equal to : 
 C ∠PQC = 25° ∠PRC = 15° ∠QCR 

C ∠PQC = 25° ∠PRC = 15° ∠QCR 

 
  (1) 40° (2) 60° (3) 80° (4) 120° 
105. The probability for a leap year to have 52 Mondays and 53 Sundays is: 
 52 53 

52 53 
  (1) 1/52 (2) 1/26 (3) 1/7 (4) 2/7 
106. Which of the following number is irrational? 
 

 

  (1) 16 4−  (2) ( ) ( )3 3 3 3− +  (3) 5 3+  (4) 25−  
107. If p – q = – 8 and p.q = – 12 then the value of p3 – q3 is: 
 p – q = – 8 p.q = – 12 p3 – q3 

p – q = – 8 p.q = – 12 p3 – q3  
  (1) 224 (2) –224 (3) 242 (4) –242 
108. The distance of the point (3, 5) from x-axis is : 
 x- (3, 5) / x- (3, 5)

  (1) 34   (2) 3  
  (3) 5  (4) None of these / /  
109. In a Cricket match, Dhoni hits a six 4 times from 24 balls he plays. Find the probability of hitting a Six. 
 24 4  
 24 4   

  (1) 
2
3

 (2) 
1
6

 (3) 
2

10
 (4) 

1
5  

110. If all the three medians of a triangle are equal then the triangle is:  
 ________

________
  (1) isosceles /   (2) equilateral /   
  (3) scalene /   (4) right – angled /  
111. The maximum volume of a cone that can be carved out of a solid hemisphere of radius ‘r’ is  
  r’  
  r’  

  (1) 23 rπ  (2) 
3

3
rπ  (3) 

2

3
rπ   (4) 33 rπ  
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112. Side of a cube is 1 cm. If we join one side of this type of two cubes then area of the combined figure is- 
 1

1
  (1) 2 (2 + 1 + 2) cm2 (2) 2 (2 + 2 + 2) cm2 (3) 2 (1 + 1 + 1) cm2 (4) 2 (1 + 1 + 2) cm2 

113. If (x – 1) is a factor of kx2 – ( )2 1x + , then the value of k is :  

 kx2 – ( )2 1x +
 

(x – 1) k   

 kx2 – ( )2 1x +
 

(x – 1) k  

  (1) 2 1−  (2) 2 1+  (3) 1 2−  (4) 1 2− −  
114. In the given figure, AB = 4 cm, BC = 3cm, the area of shaded portion is  
 AB = 4 BC = 3 

AB = 4 BC = 3 

 
  (1) 6.25 cm2 (2) 7.64 cm2 (3) 12 cm2 (4) 19.64 cm2   
115. If the mean of the observations : x, x + 3, x + 5, x + 7, x + 10 is 9, the mean of the last three observations is :  
 x, x + 3, x + 5, x + 7, x + 10 9 

x, x + 3, x + 5, x + 7, x + 10 9 

  (1) 
110
3

 (2) 
210
3

 (3) 
111
3

 (4) 
211
3  

116. In T-20 world cup 2024, Bumrah took 2 wickets less than the numbers of wickets taken by Arshdeep. If the product  
 of the numbers of wickets taken by two player is 255. Find the number of wicket taken by Bumrah?   
 2024 T-20 2 255 

 
 2024 T-20 2 

255 
  (1) 17 (2) 15 (3) 9 (4) 23 
117. f (x) = x(x + 1) (2x + 1) then f (x) – f (x – 1) is  
 f (x) = x(x + 1) (2x + 1) f (x) – f (x – 1) 

f (x) = x(x + 1) (2x + 1) f (x) – f (x – 1) 
  (1) 4x2  (2) 6x2  
  (3) 5x2        (4) None of these / /  
118. If the nth term of a sequence is 3 + 2n, then the sum of its first 20 terms is 
 n 3 + 2n 20  
  n 3 + 2n  20  
  (1) 480 (2) 520 (3) 500  (4) 460 
119. The radii of the ends of a bucket 16 cm high are 20 cm and 8 cm. Find the curved surface area of the bucket. 
 16 20 8  
 16 20  8  
  (1) 1760 cm2 (2) 2240 cm2 (3) 880 cm2  (4) 3120 cm2 

120. The total surface area of a cone whose radius is 
2
r

and slant height 2 is: 

 
2
r

2 

2
r

2 

  (1) ( )2 r rπ +  (2) 
4
rrπ  + 

 
  (3) ( )r rπ +  (4) 2 rπ   
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121. Choose the correct option to complete
 
  p m _ p _ d p m _ p _ _ p m 
  (1) d m d d d (2)
122. What will be the missing term of the given series?
 

  (1) LAQ (2)
123. From the given alternative words select the word which cannot be formed using the letters of the given word.
 ‘MERCANTILE’ 

‘MERCANTILE’

  (1) Truce (2)
124. In a certain code language, 1875 means ‘
 ‘watch a round wheel’. Find the code of ‘watch’. 
 1875 
 a round wheel’ ‘watch’ 

1875 ‘wound the round watch
 round wheel’, ‘watch’ 
  (1) 1 (2)
125. In a certain code language, ‘+’ represents ‘
 answer of 96 × 4 ÷ 125 + 25 – 5 =? 
 ‘+’ ‘–
 ‘+’ ‘–’ ‘
  (1) 23 (2) 24
126. Which of the following Venn diagrams represents the relationship between Butterflies, Chairs and Insects?
 

 
 
  
  (1) (2)
 
 
 
 
127. Five books are lying in a pile. E is
 Which book is lying at the bottom
 E, A

 E, A

  (1) A (2)
128. The ratio of the area of a square to that of the square drawn on its diagonal, is 
 
 
  (1) 1 : 2 (2)
129. What was the day of the week on 26
 1950 26 

26 1950 
  (1) Monday / /   
  (3) Thursday / / 
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complete the following pattern.  
/  

 d
(2) d m d m m (3) d m m m d 

missing term of the given series? 

ROK, LIE, FCY, ZWS, ? 
(2) SRV (3) TQM 

words select the word which cannot be formed using the letters of the given word.

‘MERCANTILE’
(2) Learn (3) Trace 

In a certain code language, 1875 means ‘wound the round watch’, 6143 means ‘a cake is round’ and 7321 means 
e code of ‘watch’.  

‘wound the round watch’ 6143 ‘a cake is round’ 
‘watch’ 

wound the round watch’ 6143 ‘a cake is round’ 

(2) 8 (3) 5 
In a certain code language, ‘+’ represents ‘–’, ‘–’ represents ‘×’, ‘×’ represents ‘÷’ and ‘÷’ 

 
–’ ‘–’ ‘×’ ‘×’ ‘÷’ ‘÷’ ‘+’ 
‘–’ ‘×’ ‘×’ ‘÷’ ‘÷’ ‘+’ 

(2) 24 (3) 50 
Which of the following Venn diagrams represents the relationship between Butterflies, Chairs and Insects?

(2) (3) 

is lying on A. C is lying under B. A is lying abo
om of the pile? 

E, A ; C, B ; A, B ; D, C

; C B ; A B ; D C

(2) B (3) C 
The ratio of the area of a square to that of the square drawn on its diagonal, is – 

– 
 

(2) 2 : 3 (3) 3 : 1 
What was the day of the week on 26th January 1950? 

 (2) Tuesday / 
 (4) Sunday / 

REASONING / / 
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 (4) d m d m d 

 (4) FMQ  
words select the word which cannot be formed using the letters of the given word. 

 (4) Claim  
’, 6143 means ‘a cake is round’ and 7321 means  

‘a cake is round’ 7321 ‘watch  

‘a cake is round’ 7321 ‘watch a  

 (4) 7 
’ represents ‘×’, ‘×’ represents ‘÷’ and ‘÷’ represents ‘+’. Find the  

96 × 4 ÷ 125 + 25 – 5 =?  
96 × 4 ÷ 125 + 25 – 5 =?  

 (4) 8 
Which of the following Venn diagrams represents the relationship between Butterflies, Chairs and Insects? 

 (4)  

above B. D is lying under C.  

D, C

C

 (4) D 

 
 (4) 4 : 1 

/   
/   
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130. 36 men can complete a piece of work in 18 days. In how many days will 27 men complete the same work?
 36 18 

36 18 
  (1) 12 (2)
131. The square root of 16  is – 
 16

16
  (1) 4 (2) 2
132. What is the unit digit in 1057 ? 
 1057   
 1057  
  (1) 1 (2)

133. If 
2

11
1

1

x

x
x

+
+

−

 = 1, then value of x 

 
2

11
1

1

x

x
x

+
+

−

= 1 x

  (1) 
1
3

 (2) 

134. Two positions of a dice are shown below. When number 1 
 

  (1) 2  
  (3) 5  
135. The mirror image of SUPER40 will be 
 SUPER40 
 SUPER40 
  (1) (2)

136. ‘Cyclone’ is related to ‘Anti-cyclone’, in the same way as ‘Flood’ is related to 
 ‘Cyclone’ ‘Anti-cyclone’ 
 ‘Cyclone’ ‘Anti-cyclone’ 
  (1) Devastation  (2)
137. The chord of the larger of two concentric circles is tangent to the smaller circle and has length ‘a’. The area 
 enclosed between the concentric circles is 
 

– 
 
  (1) 2aπ   

  (2) 
2

2
aπ   

  (3) 
2

4
aπ   

  (4) cannot be determined / 
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36 men can complete a piece of work in 18 days. In how many days will 27 men complete the same work?
27 

18 27 
(2) 18 (3) 22 

(2) 2 (3) 1 

(2) 5 (3) 7 

 is –  

/  
2

11
1

1

x

x
x

+
+

−

= 1 x

(2) 
2
3

 (3) 
4
3

 

Two positions of a dice are shown below. When number 1 is on the top. What number will be there at the bottom?
1 

1 

 
 (2) 3 
 (4) Data inadequate 

The mirror image of SUPER40 will be – 
 

(2) (3) 
cyclone’, in the same way as ‘Flood’ is related to –  

‘Flood’ ________
‘Flood’  

(2) Havoc (3) River 
The chord of the larger of two concentric circles is tangent to the smaller circle and has length ‘a’. The area 
enclosed between the concentric circles is – 

‘a’ 

‘a’ 

/  

AS40  / Date – 29-12-2024   /  Set – A /  XI 

36 men can complete a piece of work in 18 days. In how many days will 27 men complete the same work? 

 (4) 24 

 (4) 16 

 (4) 9 

 (4) 2 

is on the top. What number will be there at the bottom? 

  
Data inadequate /  

 (4) None of these 

________
 

 (4) Drought 
The chord of the larger of two concentric circles is tangent to the smaller circle and has length ‘a’. The area  
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138. A is grandfather of C, who is daugh
 A C D E A

A C C D
  (1) Wife / /   
  (3) Daughter / /   
139. Find the odd one figure. 
 /  
 
 
 
  (1) (2)
 
 
140. If ‘MISTAKE’ is coded as 9765412 and ‘NAKED’ is coded as 84123, how is ‘INTIMATE’ coded 
 ‘MISTAKE’ 9765412 ‘NAKED’ 

‘MISTAKE’ 9765412 
  (1) 78698365  
  (3) 97482134  
141. If 8 # 2 @ 5 = 21 and 4 # 6 @ 2 = 26, then what will be 3 # 7 @ 9 ?
 8 # 2 @ 5 = 21 4 # 6 @ 2 = 26 

8 # 2 @ 5 = 21 4 # 6 @ 2 = 26 
  (1) 40 (2) 30
142. Find the group of wrong alphabets in the following series.
 

  (1) Y (2)
143. If A = 1, PAT = 37, then TAP = ? 
 A = 1, PAT = 37 TAP = ?
 A = 1, PAT = 37 TAP = ?
  (1) 73 (2) 37
144. How many triangles are there in the given figure?
  
 

  (1) 12 (2) 13
145. If 80 % of a number is 768, what will be 40% of 
 80 % 768 

80 % 768 
  (1) 16.4 (2)
146. What will be the missing number of the given pattern 
 

  (1) 9 (2) 11

 

Admission cum Scholarship Test - 2025  /  AS40  / Date 

daughter of D. E is the only son of A. How is D 
A D A

E A D A
 (2) Daughter in law
 (4) Sister / / 

 

(2) (3) 

If ‘MISTAKE’ is coded as 9765412 and ‘NAKED’ is coded as 84123, how is ‘INTIMATE’ coded 
‘NAKED’ 84123 ‘INTIMATE’ 

‘NAKED’ 84123 ‘INTIMATE’ 
 (2) 78579452 
 (4) None of these / 

If 8 # 2 @ 5 = 21 and 4 # 6 @ 2 = 26, then what will be 3 # 7 @ 9 ? 
4 # 6 @ 2 = 26 3 # 7 @ 9 
4 # 6 @ 2 = 26 3 # 7 @ 9 

(2) 30 (3) 47 
Find the group of wrong alphabets in the following series. 

M, C, P, F, T, G, Y 
(2) C (3) P 

TAP = ? 
= ? 
(2) 37 (3) 36 

How many triangles are there in the given figure? 

 
(2) 13 (3) 11 

If 80 % of a number is 768, what will be 40% of 5% of that number? 
5% 40% 

5% 40%  
(2) 13.5 (3) 20.6 

the missing number of the given pattern – 

 
(2) 11 (3) 8 
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 related to A? 

w / /   

 (4) 

If ‘MISTAKE’ is coded as 9765412 and ‘NAKED’ is coded as 84123, how is ‘INTIMATE’ coded –   
‘INTIMATE’ 

‘INTIMATE’ 
  

/  

 (4) 52 

 (4) G 

 (4) 38 

 (4) 14 

  
 (4) 19.2 

 (4) 10 
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147. Which two signs need to be interchanged to make the following equation 
 

  72 × 18 ÷ 9 + 19 – 39 = 16  
  (1) – and × (2)
148. Find the number of triangles in the given figure 
 

  (1) 15 (2)
149. Five persons A, B, C, D and E are sitting facing south. B is sitting in middle, C and E are 
 the extreme right of B. Then, who is sitting on extreme left of B?
 A, B, C, D E

B B
A, B, C, D E

B
  (1) C (2) D
150. In the given figure if triangle represents healthy people, Rectangle represents old persons and circle represents men 
 then what is the number of those men who are healthy but not old?
 

  (1) 30 (2)
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Which two signs need to be interchanged to make the following equation correct? 

  
(2) + and × (3) – and +  

Find the number of triangles in the given figure – 

 
(2) 13 (3) 19 

Five persons A, B, C, D and E are sitting facing south. B is sitting in middle, C and E are 
the extreme right of B. Then, who is sitting on extreme left of B?  

B C  E

B C E B

(2) D (3) E 
In the given figure if triangle represents healthy people, Rectangle represents old persons and circle represents men 
then what is the number of those men who are healthy but not old? 

 
(2) 40 (3) 60 

****** 
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 (4) ÷ and × 

 (4) 17 
Five persons A, B, C, D and E are sitting facing south. B is sitting in middle, C and E are adjacent to B and A is on  

E B A,

A, B

 (4) A 
In the given figure if triangle represents healthy people, Rectangle represents old persons and circle represents men  

 (4) 20  
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